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Introduction

For many years, a bitter rivalry - arguably the most bitter in all of business at

2 Sample Hypothesis Test of Difference Of Means

We used a two sided two sample t-test to test if Apple’s mean percent daily change in stock price is
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difference in proportions where Apple stock traded above 3% on a given day is significantly larger than between -.00392 and .022781 in percentage points.

the number of instances where Microsoft’s stock traded above 3%.
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We are 90% confident that the true difference in the proportion of days Apple and Microsoft’s stock
increased in value of 3% is between (-.0008332, .54906).
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very similar. However, with clearer near-term growth
prospects working in its favor, Apple deserves a win as
the better tech stock to own today.




